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The ratio of copper to zinc in the 
alloy brass is 3:2

C
opper costs $4830 per tonne

Zinc costs $1846 per tonne

W
ork out the cost of 

500kg of brass.

The population of birds on an island 
in 2016 w

as 22%
 low

er than it w
as 

in 1996.

In 2016 the population of birds w
as 

76440.

H
ow
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any birds lived on the island 

in 1996?

A container exerts a force of 
1200 N

ew
tons on the floor.

The pressure on the floor is 
40 N

ew
tons/m

²

C
alculate the area of the container that 

is in contact w
ith the floor.
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��Point D
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.
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idpoint of AC
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�

©
 C

orbettm
aths 2017

w
w

w.corbettm
aths.com

N
am

e: ______________                                    5-a-day                                      Foundation Plus
5th N

ovem
ber                                                     

The ratio of copper to zinc in the 
alloy brass is 3:2

C
opper costs $4830 per tonne

Zinc costs $1846 per tonne

W
ork out the cost of 

500kg of brass.

The population of birds on an island 
in 2016 w

as 22%
 low

er than it w
as 

in 1996.

In 2016 the population of birds w
as 

76440.

H
ow

 m
any birds lived on the island 

in 1996?

A container exerts a force of 
1200 N

ew
tons on the floor.

The pressure on the floor is 
40 N

ew
tons/m

²

C
alculate the area of the container that 

is in contact w
ith the floor.

�

��Point D
 is the m

idpoint of BC
.

Point E is the m
idpoint of AC

.

W
rite these vectors in term

s of a and b.

�

©
 C

orbettm
aths 2017

w
w

w.corbettm
aths.com


